
VD_FET1

ClassBamp.dsn

I_Probe
ID_FET1

C
C5
C=2.5 nF

Port
OutBias
Num=4

TLIN
TL1

F=RFfreq
E=90
Z=50.0 Ohm

GaAsFET
FET1

Noise=yes
Area=10
Model=Generic_GaAsFet

C
C6
C=Param1

Statz_Model
Generic_GaAsFet
Vto=-2.5 Port

Output
Num=2

VAR
global VAR1
Param1=1.0 pF

Eqn
Var

Port
Input
Num=1

R
R1
R=0.001 Ohm

Port
InBias
Num=3

Vinput Vload

Vs_low Vs_high

One Large Tone Harmonic Balance HB1TonePAE_Pswp_ClassB.dsn

SweepPlan
Pin_sweep1

Rev erse=no
SweepPlan="Pin_sweep2"
UseSweepPlan=yes
Start=10 Stop=28 Step=2 Lin=

SWEEP PLAN
SweepPlan
Pin_sweep2

Rev erse=no
SweepPlan=
UseSweepPlan=
Start=22.0 Stop=26.0 Step=0.2 Lin=

SWEEP PLAN
VAR
VAR4

f_4 = 4.5*RFfreq
f_3 = 3.5*RFfreq
f_2 = 2.5*RFfreq
f_1 = 1.5*RFfreq
f_bb=0.5*RFfreq

Eqn
Var

HarmonicBalance
HB1

Sav edEquationName[1]="Zload"
SweepPlan="Pin_sweep1"
SweepVar="Pin_dBm"
UseKrylov =auto
Order[1]=15
Freq[1]=RFfreq

HARMONIC BALANCE

VAR
VAR5

Z_s_5 =Z0 + j *0
Z_s_4 = Z0 + j *0
Z_s_3 = Z0 + j *0
Z_s_2 = Z0 + j *0
Z_s_fund = Z0 + j *0
Z_s_bb=Z0+j*0
;Source Impedances=
Z_l_5 = Z0 + j *0
Z_l_4 = Z0 + j *0
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Eqn P_gain_transducer=Pout_dBm[1]-Pin_dBm

Eqn Gain_Reduction=P_gain_transducer-P_gain_transducer[0]
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Eqn Pout_dBm=10*log10(0.5*real(Vload*conj(Iload.i))+1e-20)+30

Eqn ref_fund_line=1*Pin_dBm+11.3



Eqn Pout_dBm=10*log10(0.5*real(Vload*conj(Iload.i))+1e-20)+30

Eqn Pfund_low_dBm=mix(Pout_dBm,{1,0},Mix)

Eqn Pfund_high_dBm=mix(Pout_dBm,{0,1},Mix)

Eqn Pim3_low_dBm=mix(Pout_dBm,{2,-1},Mix)

Eqn Pim3_high_dBm=mix(Pout_dBm,{-1,2},Mix)

Eqn IM3_low=Pfund_low_dBm-Pim3_low_dBm

Eqn IM3_high=Pfund_high_dBm-Pim3_high_dBm

Eqn IIP3_low_dBm=IM3_low/2+Pin_dBm

Eqn IIP3_high_dBm=IM3_high/2+Pin_dBm
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Eqn ref_im3_line=3*Pin_dBm-45.5

Eqn Gain_low=Pfund_low_dBm-Pin_dBm

Eqn Gain_high=Pfund_high_dBm-Pin_dBm

Eqn GainComp_low=Gain_low[0]-Gain_low

Eqn GainComp_high=Gain_high[0]-Gain_high

Eqn ref_fund_line=1*Pin_dBm+11.5
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Eqn Small_Pout_dBm=10*log10(0.5*real(SM.Vload*conj(SM.Iload.i))+1e-20)+30

Eqn Pfund_high_dBm=Large_Pout_dBm[1]

Eqn Pfund_low_dBm=mix(Small_Pout_dBm,{1,-1},SM.Mix)

Eqn Pim3_high_dBm=mix(Small_Pout_dBm,{1,1},SM.Mix)

Eqn IM3_high=Pfund_high_dBm-Pim3_high_dBm

Eqn IIP3_high_dBm=IM3_high/2+SM.Pin_dBm
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Eqn ref_im3_line=3*SM.Pin_dBm-42.2

Eqn Gain_low=Pfund_low_dBm-SM.Pin_dBm

Eqn Gain_high=Pfund_high_dBm-HB.Pin_dBm

Eqn GainComp_low=Gain_low[0]-Gain_low

Eqn GainComp_high=Gain_high[0]-Gain_high

Eqn ref_fund_line=1*HB.Pin_dBm+11.3
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Eqn Large_Pout_dBm=10*log10(0.5*real(HB.Vload*conj(HB.Iload.i))+1e-20)+30

mix(SM.freq[0,::],{1,-1},SM.Mix[0,::])

849.9950 MHz

mix(SM.freq[0,::],{1,1},SM.Mix[0,::])

850.0150 MHz



Eqn Small_Pout_dBm=10*log10(0.5*real($HB1SS.SM.Vload*conj($HB1SS..SM.Iload.i))+1e-20)+30

Eqn HB1SS_Pfund_high_dBm=Large_Pout_dBm[1]

Eqn HB1SS_Pfund_low_dBm=mix(Small_Pout_dBm,{1,-1},$HB1SS..SM.Mix)

Eqn HB1SS_Pim3_high_dBm=mix(Small_Pout_dBm,{1,1},$HB1SS..SM.Mix)

Eqn HB1SS_IM3_high=HB1SS_Pfund_high_dBm-HB1SS_Pim3_high_dBm

Eqn HB1SS_IIP3_high_dBm=HB1SS_IM3_high/2+$HB1SS..SM.Pin_dBm

Eqn Large_Pout_dBm=10*log10(0.5*real($HB1SS.HB.Vload*conj($HB1SS..HB.Iload.i))+1e-20)+30
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